



本書

p.16~19

学
期
口
頭
試
験

月

日

ク
ラ
ス

氏
名

① 次の計算をなさい。

【各4点×12】

(1) $(-1.2) + (-0.8)$

(2) $(+4) + (-2.6)$

(3) $(-4.2) + (+2.6)$

(4) $(+\frac{3}{7}) + (-\frac{8}{7})$

(5) $(-\frac{5}{6}) + (+\frac{1}{3})$

(6) $(+\frac{5}{12}) + (-\frac{3}{4})$

(7) $(-1.3) - (+0.8)$

(8) $(+0.6) - (+3)$

(9) $(+2.3) - (-0.7)$

(10) $(-\frac{3}{4}) - (+\frac{1}{5})$

(11) $(+\frac{7}{18}) - (+\frac{5}{6})$

(12) $(+\frac{3}{5}) - (-\frac{1}{10})$

② 次の計算をなさい。

【(1)~(4)各4点×4, (5)~(10)各6点×6】

(1) $7 + (-8) + (-6)$

(2) $2 - 6 + (-7)$

(3) $-3 + (-8) - (-5)$

(4) $-4 + (-9) + 3$

(5) $-2 - 4 + (-3) + 5$

(6) $9 - (-4) - (+2) - 8$

(7) $4 - (-12) + (-3.1) - 6$

(8) $4.5 - (-2.7) - 3.8 + (-5.5)$

(9) $\frac{5}{6} - \frac{3}{4} + (-\frac{1}{3})$

(10) $-\frac{7}{15} - \frac{2}{3} - (-\frac{4}{5})$



本書

p.16~19

口頭

月

日

クラス

氏名

1 次の計算をしなさい。

【各4点×12】

(1) $(-1.2) + (-0.8)$

$= - (1.2 + 0.8)$

$= -2$

-2

(2) $(+4) + (-2.6)$

$= + (4 - 2.6)$

$= +1.4$

$+1.4$

(3) $(-4.2) + (+2.6)$

$= - (4.2 - 2.6)$

$= -1.6$

-1.6

(4) $(+\frac{3}{7}) + (-\frac{8}{7})$

$= - (\frac{8}{7} - \frac{3}{7})$

$= -\frac{5}{7}$

$-\frac{5}{7}$

(5) $(-\frac{5}{6}) + (+\frac{1}{3})$

$= (-\frac{5}{6}) + (+\frac{2}{6})$

$= - (\frac{5}{6} - \frac{2}{6}) = -\frac{3}{6}$

$= -\frac{1}{2}$

$-\frac{1}{2}$

(6) $(+\frac{5}{12}) + (-\frac{3}{4})$

$= (+\frac{5}{12}) + (-\frac{9}{12})$

$= - (\frac{9}{12} - \frac{5}{12}) = -\frac{4}{12}$

$= -\frac{1}{3}$

$-\frac{1}{3}$

(7) $(-1.3) - (+0.8)$

$= (-1.3) + (-0.8)$

$= -2.1$

-2.1

(8) $(+0.6) - (+3)$

$= (+0.6) + (-3)$

$= -2.4$

-2.4

(9) $(+2.3) - (-0.7)$

$= (+2.3) + (+0.7)$

$= +3$

$+3$

(10) $(-\frac{3}{4}) - (+\frac{1}{5})$

$= (-\frac{15}{20}) + (-\frac{4}{20})$

$= -\frac{19}{20}$

$-\frac{19}{20}$

(11) $(+\frac{7}{18}) - (+\frac{5}{6})$

$= (+\frac{7}{18}) + (-\frac{15}{18})$

$= -\frac{8}{18}$

$= -\frac{4}{9}$

$-\frac{4}{9}$

(12) $(+\frac{3}{5}) - (-\frac{1}{10})$

$= (+\frac{6}{10}) + (+\frac{1}{10})$

$= +\frac{7}{10}$

$+\frac{7}{10}$

2 次の計算をしなさい。

【(1)~(4)各4点×4, (5)~(10)各6点×6】

(1) $7 + (-8) + (-6)$

$= 7 - 8 - 6$

$= 7 - 14$

$= -7$

-7

(2) $2 - 6 + (-7)$

$= 2 - 6 - 7$

$= 2 - 13$

$= -11$

-11

(3) $-3 + (-8) - (-5)$

$= -3 - 8 + 5$

$= -11 + 5$

$= -6$

-6

(4) $-4 + (-9) + 3$

$= -4 - 9 + 3$

$= -13 + 3$

$= -10$

-10

(5) $-2 - 4 + (-3) + 5$

$= -2 - 4 - 3 + 5$

$= -9 + 5$

$= -4$

-4

(6) $9 - (-4) - (+2) - 8$

$= 9 + 4 - 2 - 8$

$= 13 - 10$

$= 3$

3

(7) $4 - (-12) + (-3.1) - 6$

$= 4 + 12 - 3.1 - 6$

$= 16 - 9.1$

$= 6.9$

6.9

(8) $4.5 - (-2.7) - 3.8 + (-5.5)$

$= 4.5 + 2.7 - 3.8 - 5.5$

$= 7.2 - 9.3$

$= -2.1$

-2.1

(9) $\frac{5}{6} - \frac{3}{4} + (-\frac{1}{3})$

$= \frac{10}{12} - \frac{9}{12} - \frac{4}{12}$

$= -\frac{3}{12}$

$= -\frac{1}{4}$

$-\frac{1}{4}$

(10) $-\frac{7}{15} - \frac{2}{3} - (-\frac{4}{5})$

$= -\frac{7}{15} - \frac{10}{15} + \frac{12}{15}$

$= -\frac{5}{15}$

$= -\frac{1}{3}$

$-\frac{1}{3}$